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[1]

①

②

③

④

⑤

①

②

③

④

⑤ He is smart. 

覚えよう!

He is shy.

(  )の正しいほうを、選びなさい。

He ( is / are ) shy.

He ( is / are ) fine.

He ( is / are ) smart.

[解答]

He is fine. 

He is famous.

ステップ be動詞 肯定文 He is ～ . 

He is angry. 

He ( is / are ) angry.

Hee ( is / are ) famous.

彼は恥ずかしがりやです。

彼は元気です。

彼は有名です。

彼は怒っています。

彼はかしこいです。

He is ～ . 彼は～です。
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[2]

①

②

③

④

⑤

①

②

③

④

⑤

彼は恥ずかしがりやです。

ステップ be動詞 肯定文 He is ～ . 

覚えよう!

He is ～ . 彼は～です。

(  )内の語句を、並び替えなさい。

[解答]

( shy /  He  /  is ).

彼は元気です。

( is /  fine  /  He ).

彼は有名です。

( famous /  He  /  is ).

彼は怒っています。

( angry /  is  /  He ).

彼はかしこいです。

( smart /  He  /  is ).

He is shy.

He is fine. 

He is famous.

He is angry. 

He is smart. 
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[3]

①

②

③

④

⑤

①

②

③

④

⑤

彼は恥ずかしがりやです。

ステップ be動詞 肯定文 He is ～ . 

覚えよう!

He is ～ . 彼は～です。

次の日本文を、英語になおしなさい。

[解答]

彼は元気です。

彼は有名です。

彼は怒っています。

彼はかしこいです。

He is shy.

He is fine. 

He is famous.

He is angry. 

He is smart. 
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